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oiMli1=s 289,864,000& = 289,864
SYSIPI= 242,132,000 = 242,132
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cHAUS 223,491,000 = 223,491
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CEANDRRLEH(HEH) 20,0002 x14%x 128 = 3,360
oA1E 86,567,000& = 86,567
o All2E 72,675,000& = 72,675
ol 1s 65,983,000& = 65,983
ol &2 74,705,000& = 74,705
oS 84,545,000& = 84,545
ocdE= 66,390,000& = 66,390
ocHMES 49,849,000& = 49,849
ca=s 69.243,0008 = 69,243
ools 65,751,000& = 65,751
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- YA MHEEZ 11,639,0002/x24/1,000 = 280
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300,000& x2CHx 103 = 6,000
-ofetE A HHIAX= 300,000 x20Hx5 = 3,000
- 8.9zl 3,458,000& = 3,458
- 9. A&l X 9,531,000& = 9,531
- 10. Xt 2hy|
- E5E2(H) 3,619,000& x1CH = 3,619
oddg
- 1. get=2H| 21,950,000& = 21,950
-3.5332= % HAl 52,456,000& = 52,456
- XAEHMASAS
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S2(3) 810,0002x1CH = 810
e (28) 650,0002/x1CH = 650
- 4. 2942(Y . =AY|) 4,290,0008 = 4,290
- 6. 2YH(RA2Y) 6.375,0002 = 6,375
- 8.2l 5,245,00020 = 5,245
- 9. Al ZHIR XY 7,094,000 = 7,094
— 10. X2k 8|
S2(3) 3,619,000 100 = 3,619
se(28) 2,865,0002x100 = 2,865
o2FS
- 1. g8 25,000,0002 = 25,000
- QOIAL Al ZESH A 2e
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= o o & 4 | b ) N = ) ~
KB NIAIE = u & X 5 A &
- 9 A& EHIS XY 10,139,000& = 10, 139
- 10. Xt&F & EHH]
- E58(AE) 4,049,0002x104 = 4,049
SIS (AE) 2,865,000&x1CH = 2,865
S e
- 1.28t2H| 12,200,000& = 12,200
-3.2222 ¢ HMA 33,748,0008 = 33,748
=V ==
32 (4AE) 650,000&x1CH = 650
- 4. 2829 (Y.=554]) 4,290,000& = 4,290
- 6.2HI(BA2Y) 3,500,0008 = 3,500
- 8.9=H| 4,696,000& = 4,696
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o = oo ow | &8 = - Ak = pJ e
I opa N AIAIE = L AN
- 9. A& EHI® X bl 5,940,000& = 5,940
- 10. Xt & & 8|
sl2(A8) 2,865,0008 = 2,865
o=olH
- 1.9 2| 13,400,000& = 13,400
-3.332= ¥ MAl 43,516,000& = 43,516
- MHBHAZDL2
S=2(L8) 650, 000& x 1CH 650
- 4. 2829 (Y . =354|) 4,290,000& = 4,290
- 6.3EH(EA2Y) 4,200,000& = 4,200
- 7.9%82
ofotE A EBIYX= 300,000 x5CHx7& 10,500

_15_




dyael Ml : (120)

H
==

2
0l

Il

- 8.¢9=H|

- 9. A2 &R Xt

3,403,000

7,413,000&

2,865,000

11,150,000&

44,668,000

650,000 x 1CH

4,290,000

2,925,000

3,403

7,413

2,865

11,150

44,668

650

4,290

2,925




&:(1000) 2 EFEE A Y| 2:(1200) LB A Y &t (1240) REXI & & MIgt: (1241)8 ™ 2te| NIMIEE: (120) 3 A X A Y| == ?&A]
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I opa N AIAIE = L AN
SHorE A MHIAXE 300,0002!x20Hx5 = 3,000
- 8.2l 4,058,0002 = 4,058
- 9. A& ZHIR X 6.038,0002 = 6,038
- 10. XA B
e (28) 2,865,0002 = 2,865
olE ™
- 1.2 g| 9,950,0002! = 9,950
-3.2222 2 MA 25,167,0008 = 25,167
- ASAABD2
e (28) 650,000 x1CH = 650
- 4. 2942(Y . =EY|) 4,290,0008 = 4,290
- 6.2YH(RA2Y) 2,250,0008 = 2,250
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i, = Oﬂﬁﬁaagw Iml N = ) ~
I opa N AIAIE = L AN
-7.9x%2
SHorE A MHIAXE 300,0002/x20Hx52 = 3,000
- 8.2 2,900,0002 = 2,900
- 9. AIEEHIR XY 5,109,0008 = 5,109
- 10. Rt2A B
e (28) 2,865,0002 = 2,865
o NS
- 1.8 8,475,0008 = 8,475
- sEn o3| 1,500,0002!x 14l = 1,500
-3.2222 ¢ HA 9,060,0002 = 9,060
- 4. 2942(Y . SAY|) 2,460,0002 = 2,460
- 6. 2YH(RA2Y) 1,875,00080 = 1,875
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i, = Oﬂﬁﬁaagw Iml N = ) ~
I opa N AIAIE = L AN
- 8.2l 1,750,00020 = 1,750
- 9. Al ZHIR XY 3,883,000 3,883
oAMTI2E
- 1.8 7.300,0008 = 7,300
- SEE HE 1,500,0002!x 14l = 1,500
-3.2222 ¢ HA 7.070,0002 = 7,070
- 4. 2942(Y . SAY|) 2,460,000 2,460
- 6. 2YH(RA2Y) 1,350,000&! 1,350
- 8.2l 1,842,0002! 1,842
- 9. Al ZHIR XY 2,928,000 2,928
oHEIE
- 1.8 7.300,000&! 7,300
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- 2UHE M= 1,500,000&x1A = 1,500
-3.2222 2 HA 8,000,000& = 8,000
- FOESENZE FMHAES
40,7003 x138 &Hx 128 = 489
- FOAEBFNE QHUGNE AIES
40,0003 x138 &x 128 = 480
- 4. 292(Y . S2H]) 2,460,000& = 2,460
- 6.2HI(BA2Y) 1,350,000& = 1,350
- 8.92H| 1,842,000& = 1,842
- 9. A& &I R XIHI 2,955,000 = 2,955
ooll&E2s
- 1. 2Et=3H| 7,825,000& = 7,825
-3.2222 2 HA 9,080,000& = 9,080
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i, = Oﬂﬁﬁaagw Iml N = ) ~

I opa N AIAIE = L AN
- 4. 2942(Y HEY|) 2.460,0002 = 2,460
- 6. 2UH(RA2Y) 1,625,00020 = 1,625
- 8.2l 1,431,00020 = 1,431
- 9. AIEEHIR XY 3,253,0008 = 3,253

o&EE
- 1. gerg| 8,475,0002 = 8,475
-3.2222 ¢ MA 8,550,0002 = 8,550
- =MD HUsld AE2
50,0008/ x13] & x122 600

- 4. 2942 (Y HEY|) 2.460,0002 = 2,460
- 6. 2YHI(RA2Y) 1,875,00020 = 1,875
- 7.94x%2
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i, = Oﬂﬁoﬁuaagw Iml N = ) ~
I opa N AIAIE = L AN
SHorE A MHIAXE 300,0002/x30Hx7Y = 6.300
- 8.2l 2,572,0008 = 2,572
- 9. A& ZHIR X 3,259,000%! 3,259
oXYs
- 1. 2B gH| 7.300,0002 = 7,300
-3.2222 ¢ HA 5,610,000 5,610
- 4. 2942(Y . SAY|) 2,460,000 2,460
- 6. 2YH(RA2Y) 1,350,000&! 1,350
-7.9x%2
HorE A MHIAXE 300,0002!x2CH x5 3,000
- 8.2 1,431,000 1,431
- 9. AIEEHIR XY 3,241,000 3,241
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i, = Oﬂﬁﬁaagw Iml N = ) ~
I opa N AIAIE = L AN
oHMES
- 1. gerg| 6.700,0002 = 6,700
-3.2222 ¢ MA 6.200,0002 = 6,200
- 4. 2942H(Y . SAY|) 2.460,0008 = 2,460
- 6. 2UHI(RA2Y) 1,013,000 = 1,013
- 8.2l 1,796,000 = 1,796
- 9. Al ZHI R X 2,715,000 = 2,715
cg=E
- 1. 2B gH| 7.825,0002 = 7.825
- sEn HE 1,500,0002Ix 141 = 1,500
-3.2222 ¢ MA 7.430,0002 = 7,430
- 4. 2942H(Y . SAY|) 2.460,0008 = 2,460
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= OHMQHHEHI ) N = ) ~
KB NIAIE = u & X 5 A &
- 6. 3HH(ENESY) 1,625,000& = 1,625
- 8.9=H| 1,842,000& = 1,842
- 9. AIE USRI 2,764,0008 = 2,764
omjols

- 1.282H| 7,100,000& = 7,100
-3.232=2 % MA 6,250,000& = 6,250
- B2 o= 4X EXNAESZ

40,000& x70m x50/ 1,000 = 140
- 4. 2922(2.=34|) 2,460,000& = 2,460
- 6. 3HH(EASY) 1,238,000& = 1,238
- 8.9=H| 1,385,000& = 1,385
- 9. AlE & U R XIHI 2,557,000& = 2,557
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= qod = | oy im)
Oof &b oA AF = 91 =
HIE . MIAIE = A
202
oF il 443,160 415,800 27,360
12,600 12,600 0/01 ZLHOAHI

oIPELZ 40,0002 x38x3Yx33] = 1,080

coidg 40,0002 x3Hx3Yx33] = 1,080

oA 40,0002 x38x3Yx33] = 1,080

o & 40,0002 x2%Hx3Lx33] = 720

== 40,0002 x2Hx3YUx35] = 720

o &I|H 40,0002 x2%x3Lx33] = 720

o2 40,0002 x2%Ex3Lx33] = 720

o MUIS 40,0002 x22Hx3Yx33] = 720

o MUH2S 40,0002 x2Hx3Yx335] = 720

oHHE1S 40,0002 x2%x3Yx33] = 720
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= & 49 T | il
ol &b o A = ol =

KB NIAIE = u & X 5 A &
oflE2s 40,0003 x2Bx3€x38| = 720
o= 40,0003 x2Bx3€x33| = 720
oxEs 40,0002 x2Ex32U 33| = 720
ocMES 40,0003 x2B x32x33| = 720
ocs3s 40,0003 x2B x3€x38| = 720
o[H0l= 40,0003 x2Hx3Lx33| = 720

430,560 403,200 27.360|02 2 01t

oRELZ 130,000& x24%8 x128 = 37,440
oSz 130,000&x36Yx128 = 56,160
oRLAF 130,000& x418x12&8 = 63,960
S e 130,0002/x19¥x 128 = 29,640
oxsolil™ 130,000& x22%8 x128 = 34,320
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UBIHHH|  2:(1200) LEHHF b 8 (1240) Xt X1 8% g (1241) B = 2l RIAIE : (120)Z &= Z bl [SRSRIS] [ H]

= o A o & 4 | b ) N = ) ~
KB NIAIE = u & X 5 A &

oXIIH 130,000&x 178 x12&8 = 26,520
o2 ™ 130,000&x14¥x12&8 = 21,840
oatlls 130,0002/x14Zx128 = 21,840
oAllll2s 130,000&x11Yx128 = 17,160
olE1s 130,000 x 118 x12&8 = 17,160
oflE2s 130,000 x 128 x12&8 = 18,720
oBEE 130,0002/x14Zx128 = 21,840
ocHES= 130,000&x11Yx128 = 17,160
cN&Es 130,000&x8Hx 128 = 12,480
SR 130,000 x 128 x12&8 = 18,720
omiols 130,00024x10¥x 128 = 15,600

203

d2F=&| 620, 130 607,140 12,990
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UBIHHH|  2:(1200) LEHHF b 8 (1240) Xt X1 8% g (1241) B = 2l RIAIE : (120)Z &= Z bl [SRSRIS] [ H]

N ooa oo |58 =00 = At = | =
CHIE . HIME = A
79,200 79,200 001 J| 22 HR=AH|
oHdERT 4,800,000&x1& = 4,800
ooy 6,000,00024x1% = 6,000
cQLAEF 6,000,000&x18 = 6,000
olisH 4,800,000&x1&¥ = 4,800
o=oflH 4,800,000&x1&¥ = 4,800
o &J|e 4,800,00084x1% = 4,800
o=2d 4,800,000&x18 = 4,800
cA1=s 4,800,000&x1&¥ = 4,800
cdli2s 4,800,000&x1&¥ = 4,800
oHEZ1S 4,800,00084x1% = 4,800
ool =23 4,800,000&x18 = 4,800
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= o A o & 4 | b ) N = ) ~
KB NIAIE = u & X 5 A &
oBES 4,800,000&x18 = 4,800
oHES 4,800,000&x14a! = 4,800
oHES 4,800,0002x1% = 4,800
ocg3s 4,800,000&x1¥ = 4,800
oiols 4,800,000&x18 = 4,800
8,910 8,880 30102 HJAIAHRFAH|
oRELS 30,0002/x26% = 780
oz 30,0003 x38H = 1,140
SRS =] 30,000&x448 = 1,320
olf&s™ 30,000&x204 = 600
oS 30,0002x24% = 720
o&I|IH 30,000&x18€ = 540
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U EEl 2 (1200) et I &1 (1240) KX &4 & Mg (1241) 8 F 2t MIAIE: (220) REAIAHS [Erses] [ dE]

= o o & 4 | b ) N = ) ~
KB NIAIE = u & X 5 A &
- 2 187,950&3x1H = 188
o 122,850 x5 = 615
QXS
- QA oIs) 7 2,500,000&x1CH = 2,500
- SAD 7 3,500,000&x1H = 3,500
- o/X 7 91,350&x50 = 457
S e
- M 2 770,000&x1H = 770
- A A 2 170,000&x39H = 510
o=
- A0 2 3,500,0002x10§ = 3,500
- 237 P (25E 0|4 1,129,000&x20CH = 2,258
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1000) 2 £+34 = B (1240) KX B Mg (1241) 8 m B2l HIAIE : (220) KHA AFES [ ]
o = m
o ] m o ]
2 s MlE MHAE ol ES VAN
- JHgldl 2 102,900x3H 309
- 2MAMED] P2 770,000 x 1CH 770
oUiols
- 2 M MIED] 770,000& x1CH 770
1250
ME 22 78,240 73,440 4,800
1251
N PS 78,240 73,440 4,800
100
A0 & 78,240 73,440 4,800
120
FJAXZH| 78,240 73,440 4,800
201
dHtE2y 12,000 12,000 0
12,000 12,000 0/01 LBtE2HY|
oMYA = Of2t2 0
oEILF 5,000@ x5 x20Lx23| = 1,000
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oS0l 5,000&x58x152x23] = 750
o&IIH 5,000&x56F x152x23 = 750
o2 d™ 5,000& x5 x15¥x2sl = 750
SEST RS 5,000 x5H x15&x28] = 750
oMUi2s 5,000&x58x152x23] = 750
ol 1s 5,000&x5F x152x23 = 750
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oljE2H 40,0003 x2H x3L x43] = 960
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olE1=s 40,0003 x2H x3L x43| = 960
ool E2& 40,0003 x2H x3L x43] = 960
oL E 40,000& x2 2 x3Hx53| = 1,200
oXEUS 40,0002 x2Yx3%x43| = 960
oM&ES 40,0003 x2L x3H x43| = 960
ogXs 40,0003 x2L x3H x4 3| = 960
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203
RN 46,080 41,280 4,800
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= o A o & 4 | b ) N = ) ~
KB NIAIE = u & X 5 A &
oHRARLE SSH| = 0
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